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—yht—432—(EF/ZEH) 754.5 830 827.3 910
—ybk h—T1HY (BF/EH) 754.5 830 827.3 910
—ykR Xk 645.5 710 709.1 780
—ybTxwiryk 909.1 1,000 | 1,000.0 1,100
—whIUE—X 1,172.7 1,290 | 1,281.8 1,410
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AR TLT o FIUE—Z (Svoz| 1,1727 | 1,290 | 1,281.8 | 1,410
EA - T —YITUE—R (SR H) 1,590.9 1,750 1,745.5 1,920
RFOQ—kOLSY 490.9 540 936.4 590
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B Bk BiA Bk A
FHR 890.9 980 981.8 1,080
FHEILY— 890.9 980 081.8 1,080
BAERZ R 681.8 750 745.5 820
t—5—R(Z-E) 790.9 870 863.6 950
FHE R HEYro54) 581.8 640 636.4 700
FHEXRY 736.4 810 809.1 890
FHEEAFERA— 1,054.5 1,160 1,154.5 1,270
FHEOVYUAN 1,154.5 1,270 1,263.6 1,390
—5—RUAR> 209.1 230 227.3 250
t—5—iRAY 263.6 290 290.9 320
FEIOYY-TIOR 472.7 520 518.2 570
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B Btk A Bk A
SXIN— D) — R () 909.1 1,000 1,000.0 1,100
DX IN— (@AY -EF) 1.172.7 1,290 1,281.8 1,410
PR AYRZ R 909.1 1,000 1,000.0 1,100
O—k-Fa—k-O 5 a—bFasL1) 1,490.9 1,640 1,627.3 1,790
3—bka—k-ARF3 1,118.2 1,230 1,227.3 1,350
S A — (s L) 600.0 660 654.5 720




